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4% : N 1 R i - BREfRE ) BE
2 — | 4 S (kg) &5 (M) = o LB FE i (%h)
30100 7EWVWZ A 32 3, 456 108 108 108 | BN 324
31200 [IHZE 14 1,631 | 32 22 16| BHN 683
33810 FHERE 324 | 32 32 32 BA 105
Y3015 74 L HE 713 65 65 65| B 113R
32600 FH 745 32 32 32 BH 233
31800 1EHNAHK 27 11,578 97 86 81 &M 1353
31900 X 6,917 1,296 864 486 B 9kg
35220 ERICHE 6, 561 864 810 648 | BN 8kg
35303 AT v FEXAE D 33 17, 550 | 756 432 432 | BN 33kg |
Y3033 ZEfAL ’ 99 5,346 54 54 54| B 99kg |
36200 &% 40 4,320 108 108 108 | B M 40kg |
33300 Ty ol — 1,123 140 140 140 | 57N 81
38100 LW =i 4,644 1,404 1,296 1,296 | &HA 4kg |
31500 /EAZE 5 648 | 32 32 22 | B 243K ]
41390 IFAMA 33 3,564 | 108 108 108 | B 3348
41390 (EA A 256 66,6361 1,836| 1,296 324 | BN FE AN
41390 IFAMA 480 136, 566 2,160 1,674 864 | BN 964 —
39320 7EWiEn 10 3,758 | 49 32 32 BN " 1011A
46108 SAMED N 8 21,708 864 864 486 | B 26/5 7 |
49100 XFF 10 1,080 540 540 540 B 27 |
71011 R 7L —45 31,838 54 32 22 BWN 8804 |
71150 | LiE 1,188 54 32 32BN 303
53456 TZ 7RI 3| 1,620 540 540 540 | BN 3kg
53101 1Z L KRAR 6 7,776 1,296 1,296 1,296 | BN 6kg
30100 7ZWVWZ A 140 | 8,532 | 76 65 49 | EIR S 1404
30100 7V I A B 20| 1,188 594 594 594 | £ IR 248
30200 & N 5 2,160 2,160 2,160 2,160 |EILE 1r—= |
30300 A% 100 13, 068 1, 404 1,296 1,296 | El& 104 — A
30300 A% L 50 9,180 1,836 1,836 1,836 | EiF 5 —= |
31100 H#3¥% 315 12,312 864 540 540 |ER B 2147 — R
31200 (LR 950 65 65 22 BBIRE 2048
33810 FHHEE 1, 080 54 54 54 BER B 204%
32600 #F3 216 11 11 11 RS 2045
31700  F Y 200 20, 520 1,188 972 972 | EIRE 207 —2 |
31800 IE5NAE 12 5,184 86 86 86 | FEE K 604
131950 ARAX 9 2,538 864 864 810 | 1[5 3r—=x |
31950 HA& L 24 11, 448 1,728 1,296 1,296 BB 847 — %
131930 -~ X 4,914 86 86 76 | 6048
32800 (25 - 7, 582 130 130 119 | &I 60 |
34300 79 2L 10 6, 480 3,240 3, 240 3,240 RER 20—
34400 R Rk 24 18,468 | 3,240 3,240 2,916 REA 64 — A




4 8 _ BRTEAER &
-k il S| B | ke AEEGD) HE | w@m | mE | EH (BfD)
34400 | k=~ k 2L 8 3,888 2,160 2, 160 1,728 | #E 20— |
34460 I=L ¥ L L 10 5,702 119 | 119 119 | 48,3y 7
34100 #AI 2L 20 7,020 2,160 1,620 1, 620 | B 4ar—=
34571 <7 U5 GFR) 1,944 194] 194 194 | B[ 10f# ]
34572 TV H () 1,944 194 194 194 | 4£[F 10{#
36600 7mFhE Lk 40 4,320 2, 160 2,160 2,160 | JbifEE 27—
37200 L x 94 2L 4 4,104| 4,104 4,104 4,104 g 1r—2
33400 L & % 22 4,838 108 65 65 | E I 56{A
33420 Y —2U—TLHR L 3 648 43 43 43 | 1@ 15{H
38100 A LW i 12 9, 288 81 76 76 | E I 12005y 7|
31310 AT 4 2,160 108 108 108 | %@ 2048 |
31500 /a3 12 3, 240 54 54 54 WL R 6045
32500 ZolE 2 2, 160 108 108 108 | %@ i 203K
37560 FHIIE 1 4,968 756 702 702 | E iR T8y
38400 X DXE 5 2,160 2,160 2,160 2, 160 | E 17 —%
38400 X D XE 1,620 32 32 32 | Bl 504%
38400 xDEH 15 4,374 29 29 29 \BIRE 15048
38521 S LOHUE 3 3, 240 108 108 108 | #& [ 3048
40100 | B A 130 13,608 1,620 1,188 594 | REA 13— R
41390 X ADA 2L 20 2, 160 540 540 540 | FEIR B 47—
Y4005 AL 15 7,236| 7,236 7,236  7,236|7 AU 1H—2R
Y4034 BLE/INIINA 2L 50 7,020 864 | 594 594 | IR B 104 — =
Y4017 #2500 80 10,152 1,620 1,188 1,188 | E 8 8r—=
43610 EHI X L 15 5,400/ 1,080/ 1,080 1, 080 | #& ] 54—
43610 BHHEMNX S 30 7,776 1,944 1,944 1,944 | & 4lr—=
43800 1F LAH 3L 2 1, 890 270 270 270 |78 Iy
43800 |F LAh 5L 10 8, 640 270 | 270 270 | BE 3283y 7
ATI00 7T —A R ATy 3L 8 3, 456 864 864 864 | HEAR 4fF
49100 NFF 180 13,176 1,080 864  648|7 4 UEL 157 —A |
Y3031 | AR 100 18,001 1,800/ 1,800 1,800 EERE  10( |
Y5009 14 F AR B 30 5, 400 216 173 173 IR B 30kg N
&t 2, 862 638, 643
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